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SA AFY
B EHSANE U KAWL (RELT SN/ AL A
SRl S dEEFNA CEREED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
INEARE AL SEY NAL(2D) 159,99 0 159,99
= 79,998
== 79,998
403 X MSAH=01H 159,99% 0 159,99%
= 79,998
< 79,998
01 MHXIHH A 22X 159,99 0 159,99
OJ|EAH=F= AMANESEY KNS AL 169,99
= 79,998
= 79,998
NHAZoEME HXI2H(210) 2,000 0 2,000
= 2,000
201 ger= 3| 2,000 0 2,000
= 2,000
01 At2teltl 2,000 0 2,000
OXNSHAFHHME &X2g 2,000
= 2,000
sENSKRSAHETAN(Z12) 9,000 0 9,000
= 9,000
308 AFXIEMSOIE 9,000 0 9,000
= 9,000
01 XN BSELES 9,000 0 9,000
SEIESRFAE A 9,000
= 9,000
FEAIZ Y AT S XS (ALB S X1 /=) 90,069,828 78,698,3%6 11,361,432
= 77,081,200
Jl 610,000
== 12,368,628
ERSECONEC 89,449,828 78,501,3% 10,948,432
= 77,081,200
< 12,368,628
FAS0(=1) 82,622,768 74,395,456 8,227,312
= 75,835,000
= 6,787,768
202 O] 4,250 4,250
01 =LHOHI 4,250 4,250
OFH=AX gR=2 4,250
308 XtXIEMSO0IE 82,618,518 74,391,206 8,227,312
= 75,835,000
s 6,783,518
01 HREHH B E2ES 82,618,518 74,391,206 8,227,312
OFHS0 At 82,618,518
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SA AFY
BB e A ZOMH U= K BHAN (A= /FE)
celr FEEHAA (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 75,835,000
=S 6,783,518
HIZAN HFXE OIAHIRIR(=1) 47,320 0 47,320
= 36,400
[ 10,920
308 AtAIEHMSOIE 47,320 0 47,320
= 36,400
= 10,920
01 HAHHBSEXRS 47,320 0 47,320
OHIE@&HX HFXt OIAHHIXIA 47,320
= 36,400
= 10,920
Z2EE =HRA FHSH XN 84,000 84,000
403 XEXISHHI S KH20I & 84,000 84,000
01 XXM =225 84,000 84,000
02 +HKX FAHB0/ N 84,000
ZOHQIS=E JHEANH (= 10) 251,940 251,940 0
= 193,800
= 58,140
403 XIS A=201E 251,940 251,940 0
= 193,800
= 58,140
01 AXISHHA2EE 251,940 251,940 0
OXOHI =& JHEALA 251,940
= 193,800
=S 58,140
HAGM SAl SN AI(=1) 1,060,800 1,625,000 A564,200
= 816,000
< 244,800
308 AtXIEMSOIE 1,060,800 1,625,000 564,200
= 816,000
= 244,800
01 X SHHBAEXS 1,060,800 1,625,000 A564,200
OFIEAN BtAl SEXE At 1,060,800
= 816,000
= 244,800
UEFF FAHNS WS0IX X 2,013,000 0 2,013,000
201 er23 | 13,000 13,000
01 At2teltl 13,000 13,000
OYERR FHAS UW=0IX XE M =
2 X 13,000
308 AtAIEMSOIE 2,000,000 2,000,000
01 HASHHBSEXS 2,000,000 2,000,000
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SN AST
. AZ2I3HI(A=) (OIEHIIE
s Jl=2ghl EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
2A29 J1=3l 35,723 36,001 722
201 er23| 24,903 24,903
01 At2teltl 24,903 24,903
ORAMEY AtR2t2lH] 24,903
202 048l 7,220 6,498 722
01 2L AL 7,220 6,498 722
SAEE UL 7,220
203 =4l 3,600 3,600
M FA2ELRFAI 3,600 3,600
©202! Olat 3,600
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